RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving Solid Waste Management Program Budget Amendment)

RESOLUTION NO. 99-401

1	WHEREAS,	the Tohono O'odham Nation ("Nation"), in exercise of its sovereign authority,
2		desires to manage and regulate the storage, collection, recycling,
3		transportation and disposal of solid waste and certain hazardous waste on
4		lands within the boundaries of the Nation in order to protect the Nation's
5		environment, its natural resources, the political integrity and economic
6		security of the Nation, and the health, safety and welfare of its members and
7		all persons present on the lands of the Nation; and
8	WHEREAS,	the Tohono O'odham Legislative Council ("Legislative Council") adopted the
9		Solid Waste Management Code and Solid Waste Management Plan on
10		February 12, 1997 with Resolution No. 97-041; and
11	WHEREAS,	the Solid Waste Management Program (Program) of the Natural Resources
12		Department is now recycling scrap metal, office paper, tires and batteries and
13		providing solid waste collection to all villages by way of 600 bins placed
14		throughout the Nation; trucks that collect on an average week 70 tons of solid
15		waste from the bins, and hauls that waste to landfills located off of the Nation's
16		lands; and
17	WHEREAS,	the Program needs laborers for clean-up projects at dump sites and surface
18		dumping areas; and
19	WHEREAS,	the Program has contracted out all heavy truck repair work to a company in
20		Tucson until a preventive maintenance program can be set up by SWMP on the
21		Nation; and
22	WHEREAS,	the Program has been using a portion of the inactive construction yard, which
23		is adjacent to TOUA's Administrative and Maintenance Facility, for trash truck
24		parking since the program began in January 1998.
25	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby
26		approves the creation of a new line item, Occasional Appointments @ $\$4,000.00$

	RESOLUTION NO. <u>99-401</u> (Approving Solid Waste Management Program Budget Amendment) Page 2 of 3
1	and modifies the program's FY-1999 budget as stated in the attached budget
2	amendment.
3	BE IT FURTHER RESOLVED that the above identified new line item become part of the Solid
4	Waste Management Program's base budget for FY-2000.
5	
6	The foregoing Resolution was passed by the Tohono O'odham Council on the 15TH. day of
7	IULY. 1999 at a meeting at which a quorum was present with a vote of 1.863.85 FOR; -0-
8	AGAINST; 79.05 NOT VOTING; and 222.6 [05] ABSENT, pursuant to the powers vested in the
9	Council by Section 1 (d)(3) of Article VI of the Constitution of the Tohono O'Odham Nation,
10 11	adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to
12	Section 16 of the Act of June 18, 1934 (48 Stat. 984).
13	
14	TOHONO O'ODHAM LEGISLATIVE COUNCIL
15	
16	
17	for
18	Dennis Ramon, Legislative Chairman
19	
20	18 day of July , 19 99
21	·
22	
23	ATTEST:
24	
25	Xet - met
26	Julianna Saraficio, Acting Legislative Secretary
27	y julianna Saralicio, Acting Legislative Secretary
28 (15 day of 1999.
29	day or second in the second in
30	Soid Possilution was submitted for approval to the office of the Chairman of the Tohono
31	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the
32 33	Outland Nation on the provisions of Section 5 of Article VII of the Constitution and will
	become effective upon his approval or upon his failure to either approve or disapprove it
34	within 48 hours of submittal.
35	WILLIE 48 HOURS OF SUDIMICIAL.
36	TOHONO O'ODHAM LEGISLATIVE COUNCIL
37	IOHOHO O ODIMMI BEGIGRATIAE COOLICIA
38	
39	the state of the s
40	Bennis Ramon, Legislative Chairman

	(Approving Solid Waste Management Program Budget Amendment) Page 3 of 3								
1	♠ APPROVED	on the 19 day of July	_, 19_99						
2 3	[] DISAPPROVED	at 12:47 o'clock, P.M.							
4									
5									
6		Henry a Kamon							
7		EDWARD D. MANUEL, Chairman							
8		TOHONO O'ODHAM NATION							
9									
10									
11									
12	 	. 19							
13	Returned to the Legislati	ive Secretary on the <u>19</u> day of							
14	10	99, at 4.32 o'clock,M.							
15									
16	X	ent.							
17 18	Julianna Saraficio, Actin								
19	Jungania Sarancio, Actin	g legislative secretary							
20									
21									
22									
23									
24									
25									
26									
27									
28									
29									
30									
31									
32									
33									
34									
35									
36									
37									
38									
39 40									
40 41									
41	11								

RESOLUTION NO. 99-401

ACTION: APPROVING TOHONO O'ODHAM SOLID WASTE MANAGEMENT PROGRAM BUDGET AMENDMENT

MOVED: COUNCILWOMAN RITA MARTINEZ

SECOND: COUNCILWOMAN EVELYN JUAN

DATE:

JULY 15, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	MARY ANN ANTONE (Darlene Andrew) RITA MARTINEZ	85.9 85.9	X			
	(Nicholas Jose)	83.9	X			
SELLS	1. DENNIS E. JOSE	186.35	x			
372.7	2. EVELYN JUAN	186.35	X			
SCHUK TOAK	1. MARY FLORES	66.7	X			X
133.4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	x			
165.9	2. DENNIS RAMON ()	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	Х			X
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI	1. CAMILLUS LOPEZ	104.8	X			
209.6	(Louis Johnson) 2. ALEX J. RAMON ()	104.8	X			
PISINEMO	BARBARA SALVICIO (Alex Antone)	78.4	X			
156.8	2. JOHNSON JOSE	78.4	X			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	x			
128.1	2. GLORIA RAMIREZ ()	64.05	x			
GU VO	1. FERN SALCIDO	80.0	X			
160.0	() 2. GLORIA MONTANA (Phillip Antone)	80.0	x			x
HICKIWAN	1. ALEX JOSE	79.05	x			
158.1	(Shirley Santos) 2. LLOYD FRANCISCO (Susan Sam)	79.05			x	
CHUKUT KUK	1. KENNETH WILLIAMS	111.3				X
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3				x
TO THE COURT WORKS	OTAL	2,165.5	1,863.85	-0-	79.05	222.6 [05]

^{**}PASSED VOTES